Komunikacijska elektronika

1.1 Find I, and I, in the circuit in Fig. P2.11.
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Figure P2.11

SOLUTION:
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1.2 Find 1, and [, in the circuit in Fig. P2.12.
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Figure P2.12

SOLUTION:

Find. L, and T,
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1.3 Find I, in the circuit in Fig. P2.15.
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Figure P2.15
SOLUTION:
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1.4 Find Uy, and U, in the circuit in Fig. P2.17.
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Figure P2.17

SOLUTION:
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1.5 Find y, in the circuit in Fig, P2.22.

Ix — Ux -+
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Figure P2.22
SOLUTION:
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1.6 Find U in the network in Fig. P2.26.

— Ux +
VN ——e VAA
10 kQ) + 5k

25V U1 %
o
Figure P2.26
SOLUTION:
Find Uy .
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1.7 If = 4V in the network in Fig. P2.30, find U.
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Figure P2.30
SOLUTION:
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1.8 Find R, in the circuit in Fig. P2.49.
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Figure P2.49

SOLUTION:
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1.9 Find [; and U, in the circuit in Fig. P2.61.

VWAt O
;11 2 kQ) +
6V %12 kQ g 4 kQ) Up
¢ -+ O
Figure P2.61
SOLUTION:
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'1.10 Find I, and U, in the circuit in Fig. P2.62.

VA -V o O
2 kQ) 8 k() +
12V 6 kQ § 4 kQ Up
I -
—— —_)
Figure P2.62
SOLUTION:
Find L, #Us.
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1.11 Find U, in the network in Fig. P2.111.

1
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O
Figure P2.111
SOLUTION:
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1.12 A typical transistor amplifier is shown in Fig. P2.117.
Find the amplifier gain G (i.e., the ratio of the output
voltage to the input voltage).
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Figure P2.117
SOLUTION:
Find G= U, /Us
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1.13 Find I, in the circuit in Fig. P3.1 using nodal analysis.

VAN
10 kQ)
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Figure P3.1
SOLUTION:
To 1ma nodal
: @u* U 1 Ul
} U§ %%3” ,Uz' 1 : E 3 [?41 = 0y
'3 =0 aﬁ% 2
gV §Zz, s ‘
Th=ren Rusiekn Tk §: m.-Uz/g

Yy= 3k s Lpmd {:{::&: |




14 , Komunikacijska elektronika

1.14 Find /, in the circuit in Fig. P3.5 using nodal analysis.

9V | gam ézm %2:«2

Figure P3.5

SOLUTION:
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1.15Find I, in the network in Fig. P3.6 using nodal analysis.
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6 kQ 4 kQ
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1
Figure P3.6

SOLUTION:
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1.16 Find U, in the circuit in Fig. P3.8 using nodal analysis.

@Dmv e CDSmA

Figure P3.8

SOLUTION:
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1.17 Use nodal analysis to find U, in the circuit in Fig. P3.9.
4 k()
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Figure P3.9
SOLUTION:
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1.18 Use nodal analysis to find U, in the circuit in Fig. P3.13.

—~AAA VI
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Figure P3.13
SOLUTION:
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1.19 Find(J, in the network in Fig. P3.32 using nodal analysis.

VW= W VAW—y 0
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- —0
Figure P3.32
SOLUTION:
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1.20 Use mesh equations to find U, in the circuit in Fig. P3.62.
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Figure P3.62

SOLUTION:
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1.21 Use mesh analysis to find U, in the circuit in Fig. P3.65.

4 kQ) 10 k()

+
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Figure P3.65

SOLUTION:
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1.22 Use loop analysis to find U, in the circuit in Fig. P3.67.

Figure P3.67

SOLUTION:
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1.23 Find I, in the network in Fig. P3.69 using mesh analysis.

Figure P3.69

S6ko <D4mA

SOLUTION:
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1.24 Find U, in the circuit in Fig. P3.84 using mesh analysis.
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Figure P3.84
SOLUTION:
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1.25 FindU, in the circuit in Fig. 3PFE-1.
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Figure 3PFE-1
SOLUTION
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1.26 Determine the voltage U, in the circuit in Fig. 3PFE-4.
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Figure 3PFE-4

SOLUTION
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